PHYS 5210
Graduate Classical Mechanics
Fall 2022

Lecture 13

Lagrangian field theory and sound waves

September 21



Review the coupled oscillator problem, and discuss the continuum limit
of the equations of.motion.
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Review the coupled oscillator Lagrangian, and describe its continuum

limit. .
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Describe the formalism of Lagrangian field theory.
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@ What are the generalization of the Euler-Lagrange equations?
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What are the continuum equations of motion for the coupled oscillator
problem?at)( D-,Q&
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@ Discuss how to solve the wave equatlon in terms of plane waves.
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